24 5/32"

7/8"

3/8"-16 UNC INSERTS ﬁ

- R9 5/8"

— METAL—FORM BENCH EM NO. 1

3/8"-16 UNC INSERTS

361/, 1/8"

40 3/8"| 7 /16"

17 1/4°

14 13/16"14 7/

._A— —\ﬁ.

2 3/18"—| — lh uou \.q. Z
3 MNJ /4" DEEP BLOCK OUT
22 1/2 FOR ANCHOR

SIDE VIEW BENCH LEG

3/8°-16 _UNC INSERTS R33"

IN BOTTOM OF LEGS |/ N
|/ / 22 1/2 R1”

|
5 |

[kl .

/o

2 5/16" 3"

2" ]
|

|
R1/4"

_|qa.|_/_w_\+.

(2) 1/4" TICK X 2 1/8" W.

LONG SLOTS FOR ANCHORS

BOTTOM VIEW BENCH LEG

CONFIDENTIA._INFORMATION

These drawings, specifications and the other information and documents
accompanying them are the confidential and proprietary property of Wousau Tile,

Inc. The drawings themselves shall belong to the owner for use only on this project,
Any additional use shall require the prior written approval of Wausau Tile, Inc. The
proprietary information contained within the drawings and the documents is and shall
remain the sole property of Wausau Tile, Inc.

X3 1/4"

80 1/4° OVER ALL
70" BENCH UNIT

METAL—FORM BENCH
ITEM NO 1

x_.l/ _
I/

~— LEFT LEG ITEM NO. 2

RIGHT LEG ITEMNO. 3 —

36 1/2"

|_u..

FRONT ELEVATION SET

3/8°-16 UNC THREADED INSERTS

CAST IN INSIDE LEGS ERGO BENCH OUT LINE
./
VAN L

2 31/32"

METAL—FORM BENCH ITEM NO. 1

2 31/32"

3 3/4"

DETAIL BOLT LOCATION BENCH

APPROX. WT. 500 LBS

ITEM NO. DISCRIPTION PART NO. | QTY.
1 NETAL~FORM BENCH UNITS 2
2 CONCRETE LEFT LEG 1
3 CONCRETE RIGHT LEG 1
4 3/8"-16 X 1" HH BOLTS, WASHERS PER SET RM10261 8
5 000K 0
Terra-Fom Products | Tema-Paving Products Precast Products
MINIINFIG  Erssmunons
REVSIONS 08 TF5966 CONCRETE LEGS W/METAL FORM SEAT | LOGATON  WAUSAU, WI.
N, BY | NO. | DATE | BY | ARCHITECH DRAMNG
“ “ DR BY RIH O 4/7/06 SCAE A5 NOTED
3 s CHO. J0B M. 00 XXX DRNG. N0.  0D6-4-133




